# ON SEVERAL INEQUALITIES RELATED TO CONVEX FUNCTIONS 

Nicuşor Minculete<br>(Communicated by M. Krnić)


#### Abstract

In this paper, for a function $f: \mathscr{X} \rightarrow \mathbb{R}$, we introduce the following expression: $\Delta_{\lambda}(f)(x, y):=\lambda f(x)+(1-\lambda) f(y)-f(\lambda x+(1-\lambda) y)$, where $x, y \in \mathscr{X}$ and $\lambda \in \mathbb{R}$. The purpose of this article is to characterize this expression, by finding various estimates of it. We also give some characterizations of $\Delta_{\lambda}(f)(x, y)$ when function $f$ is convex, which prove refinements of Young's inequality. Finally, we give several inequalities in a normed space.


## 1. Introduction

In the literature related to the theory of inequalities, many of the published papers contain studies of certain inequalities which used convexity (see e.g. [5], [14], [16], [17]).

Let $\mathscr{X}$ be a convex subset of a real vector space and let $f: \mathscr{X} \rightarrow \mathbb{R}$ be a function such that

$$
\begin{equation*}
f(\lambda x+(1-\lambda) y) \leqslant \lambda f(x)+(1-\lambda) f(y) \tag{1}
\end{equation*}
$$

for all $x, y \in \mathscr{X}$ and $\lambda \in[0,1]$. We say that function $f$ is convex. For $\lambda=\frac{1}{2}$, we have

$$
\begin{equation*}
f\left(\frac{x+y}{2}\right) \leqslant \frac{f(x)+f(y)}{2} \tag{2}
\end{equation*}
$$

for all $x, y \in \mathscr{X}$. If $f$ is concave, then the above inequalities should be reversed. If $I$ denote a nondegenerate interval of $\mathbb{R}$ and $\mathscr{X}=I$, then inequality (1) generates a series of inequalities, including Young's inequality, thus, for $f(t)=-\log t$, we obtain

$$
\begin{equation*}
\lambda x+(1-\lambda) y \geqslant x^{\lambda} y^{1-\lambda} \tag{3}
\end{equation*}
$$

for every $x, y>0$ and $\lambda \in[0,1]$. In many papers, improvements, generalizations or reverse inequalities of Young's inequality have been studied (see e.g. [4], [5], [7], [11], [12], [13], [19], [20]).

Let $f: \mathscr{X} \rightarrow \mathbb{R}$ be a function. We introduce the following expression:

$$
\Delta_{\lambda}(f)(x, y):=\lambda f(x)+(1-\lambda) f(y)-f(\lambda x+(1-\lambda) y)
$$

where $x, y \in \mathscr{X}$ and $\lambda \in \mathbb{R}$. If $f$ is a convex function and $\lambda \in[0,1]$, then we obtain that $\Delta_{\lambda}(f)(x, y) \geqslant 0$, for all $x, y \in \mathscr{X}$. We find the following properties:

$$
\begin{gathered}
\Delta_{\lambda}(f)(x, x)=\Delta_{0}(f)(x, y)=\Delta_{1}(f)(x, y)=0 \\
\Delta_{\lambda}(f)(x, y)=\Delta_{1-\lambda}(f)(y, x)
\end{gathered}
$$

and
$\Delta_{1 / 2}(f)(\lambda x+(1-\lambda) y,(1-\lambda) x+\lambda y)+\frac{1}{2}\left(\Delta_{\lambda}(f)(x, y)+\Delta_{\lambda}(f)(y, x)\right)=\Delta_{1 / 2}(f)(x, y)$ for every $x, y \in \mathscr{X}$.

In [13], we found a result which can be rewritten as

$$
\begin{equation*}
m \frac{\lambda(1-\lambda)}{2}(x-y)^{2} \leqslant \Delta_{\lambda}(f)(x, y) \leqslant M \frac{\lambda(1-\lambda)}{2}(x-y)^{2} \tag{4}
\end{equation*}
$$

where $\lambda \in[0,1]$ and $f:[x, y] \rightarrow \mathbb{R}$ is a twice differentiable function such that there exist real constants $m$ and $M$ so that $m \leqslant f^{\prime \prime} \leqslant M$. According to inequality (4) for $\lambda=\frac{1}{2}$ we obtain the following result, previously established in [3]:

$$
\begin{equation*}
\frac{m}{8}(x-y)^{2} \leqslant \Delta_{1 / 2}(f)(x, y) \leqslant \frac{M}{8}(x-y)^{2} \tag{5}
\end{equation*}
$$

for every $x, y \in I$, where $I$ is a nondegenerate interval of $\mathbb{R}$.
Let $f:[x, y] \rightarrow \mathbb{R}$ be a convex continuous function. Then, in terms of $\Delta_{\lambda}(f)(x, y)$, Hardy, Litlewood and Pólya [6] remark that

$$
\Delta_{1 / 2}(f)(x, y) \geqslant \Delta_{1 / 2}(f)(z, t)
$$

for every $x \leqslant z \leqslant t \leqslant y$.
In addition, some historical overview of studied problem are given below.
The Jensen inequality can be rewritten in the form of the corresponding functional, i.e.

$$
\begin{equation*}
\mathscr{J}_{n}(f, \mathbf{x}, \mathbf{p}):=\sum_{i=1}^{n} p_{i} f\left(x_{i}\right)-P_{n} f\left(\frac{1}{P_{n}} \sum_{i=1}^{n} p_{i} x_{i}\right), \tag{6}
\end{equation*}
$$

where the function $f: I \rightarrow \mathbb{R}$ is convex on the interval $I$ and $\mathbf{x}=\left(x_{1}, \ldots, x_{n}\right) \in I^{n}$, $\mathbf{p}=\left(p_{1}, \ldots, p_{n}\right) \in \mathbb{R}_{+}^{n}, P_{n}=\sum_{i=1}^{n} p_{i}>0$. Dragomir et al. [2] noticed that the Jensen functional is superadditive, that is,

$$
\begin{equation*}
\mathscr{J}_{n}(f, \mathbf{x}, \mathbf{p}+\mathbf{q}) \geqslant \mathscr{J}_{n}(f, \mathbf{x}, \mathbf{p})+\mathscr{J}_{n}(f, \mathbf{x}, \mathbf{q}) \tag{7}
\end{equation*}
$$

where $\mathbf{p}, \mathbf{q} \in \mathbb{R}_{+}^{n}$.
In the following years, this relation will become the starting point for improving the Jensen-type inequalities since it implies the so called monotonicity of the Jensen functional, i.e.

$$
\begin{equation*}
\mathscr{J}_{n}(f, \mathbf{x}, \mathbf{p}) \geqslant \mathscr{J}_{n}(f, \mathbf{x}, \mathbf{q}) \geqslant 0 \tag{8}
\end{equation*}
$$

whenever $\mathbf{p} \geqslant \mathbf{q}$, i.e. $p_{i} \geqslant q_{i}, i=1, \ldots, n$ (see also [14], p.717). Note that $\sum_{i=1}^{n} p_{i}$ need not be equal to 1 , otherwise we would not be able to prove these relations.

By virtue of (8), Krnić et al. [8], established the mutual bounds for the Jensen functional expressed in terms of the corresponding non-weighted functional. More precisely, they proved that

$$
\begin{equation*}
n \min _{1 \leqslant i \leqslant n}\left\{p_{i}\right\} \mathscr{I}_{n}(f, \mathbf{x}) \leqslant \mathscr{J}_{n}(f, \mathbf{x}, \mathbf{p}) \leqslant n \max _{1 \leqslant i \leqslant n}\left\{p_{i}\right\} \mathscr{I}_{n}(f, \mathbf{x}), \tag{9}
\end{equation*}
$$

where $\mathscr{I}_{n}(f, \mathbf{x})$ stands for the associated non-weighted functional, i.e.

$$
\mathscr{I}_{n}(f, \mathbf{x})=\frac{1}{n} \sum_{i=1}^{n} f\left(x_{i}\right)-f\left(\frac{1}{n} \sum_{i=1}^{n} x_{i}\right) .
$$

Also inequality (9) was also proved by Dragomir [1] or by Mitroi [15].
The lower bound in (9) represents the refinement, while the upper one is the reverse of the Jensen inequality. Based on this property, numerous inequalities such the Young inequality, the Hölder inequality, power mean inequalities, etc. have been refined (see, e.g. [8, 9] and the references cited therein). These new results about the Jensen inequality are collected in monograph [10]. For $n=2$, in inequalities (6), (7), (8) and (9), we obtain some characterizations of $\Delta_{\lambda}(f)(x, y)$ when $\lambda \geqslant 0$.

The purpose of this article is to characterize expression $\Delta_{\lambda}(f)(x, y)$, by finding various estimates of it. We also give some characterizations of $\Delta_{\lambda}(f)(x, y)$ when function $f$ is convex, which prove refinements of Young's inequality. Finally, choosing a particular case for a convex function $f$ we give several inequalities in a normed space.

## 2. Main results

Next, we give some relations related to $\Delta \cdot(\cdot)(\cdot, \cdot)$, relations necessary to prove some inequalities of the Young type. Let $\mathscr{X}$ be a convex subset of a real vector space.

Lemma 1. Let $f: \mathscr{X} \rightarrow \mathbb{R}$ be a function and $x, y \in \mathscr{X}$. If $\lambda \in \mathbb{R}$, then the following equalities hold:

$$
\begin{equation*}
\Delta_{\lambda}(f)(x, y)=\Delta_{2 \lambda}(f)\left(\frac{1}{2}(x+y), y\right)+2 \lambda \Delta_{1 / 2}(f)(x, y) \tag{10}
\end{equation*}
$$

and

$$
\begin{equation*}
\Delta_{\lambda}(f)(x, y)=\Delta_{2 \lambda-1}(f)\left(x, \frac{1}{2}(x+y)\right)+2(1-\lambda) \Delta_{1 / 2}(f)(x, y) \tag{11}
\end{equation*}
$$

Proof. Using the definition of $\Delta_{\lambda}(f)(x, y)$, by regrouping the terms, we obtain

$$
\begin{aligned}
& \Delta_{2 \lambda}(f)\left(\frac{1}{2}(x+y), y\right)=2 \lambda f\left(\frac{x+y}{2}\right)+(1-2 \lambda) f(y)-f\left(2 \lambda \frac{x+y}{2}+(1-2 \lambda) y\right) \\
& =\lambda f(x)+(1-\lambda) f(y)-f(\lambda x+(1-\lambda) y)-\lambda\left(f(x)+f(y)-2 f\left(\frac{x+y}{2}\right)\right) \\
& =\Delta_{\lambda}(f)(x, y)-2 \lambda \Delta_{1 / 2}(f)(x, y),
\end{aligned}
$$

which implies the first relation of the statement. In the same way, we have

$$
\begin{aligned}
& \Delta_{2 \lambda-1}(f)\left(x, \frac{1}{2}(x+y)\right)=(2 \lambda-1) f(x)+(2-2 \lambda) f\left(\frac{x+y}{2}\right) \\
& \quad-f\left((2 \lambda-1) x+(2-2 \lambda) \frac{x+y}{2}\right) \\
& =\lambda f(x)+(1-\lambda) f(y)-f(\lambda x+(1-\lambda) y)-(1-\lambda)\left(f(x)+f(y)-2 f\left(\frac{x+y}{2}\right)\right) \\
& =\Delta_{\lambda}(f)(x, y)-2(1-\lambda) \Delta_{1 / 2}(f)(x, y)
\end{aligned}
$$

which implies the second relation of the statement.
If $\lambda \in[0,1]$ and $f: \mathscr{X} \rightarrow \mathbb{R}$ is a convex function, then it is easy to see that $\Delta_{\lambda}(f)(x, y) \geqslant 0$, for every $x, y \in \mathscr{X}$. Next, we study de case when $\lambda \notin(0,1)$.

Lemma 2. Let $f: \mathscr{X} \rightarrow \mathbb{R}$ be a convex function. If $\lambda \in \mathbb{R}-(0,1)$, then the following inequality holds:

$$
\begin{equation*}
\Delta_{\lambda}(f)(x, y) \leqslant 0 \tag{12}
\end{equation*}
$$

for all $x, y \in \mathscr{X}$.

Proof. We study two cases:
I) If $\lambda \leqslant 0$, then we obtain

$$
\begin{aligned}
\Delta_{\lambda}(f)(x, y) & =\lambda f(x)+(1-\lambda) f(y)-f(\lambda x+(1-\lambda) y) \\
& =-(-\lambda f(x)+f(\lambda x+(1-\lambda) y))+(1-\lambda) f(y) \\
& =-(1-\lambda)\left(\frac{-\lambda}{1-\lambda} f(x)+\frac{1}{1-\lambda} f(\lambda x+(1-\lambda) y)-f(y)\right) \leqslant 0
\end{aligned}
$$

II) If $\lambda \geqslant 1$, then, using the triangle inequality, we deduce

$$
\begin{aligned}
\Delta_{\lambda}(f)(x, y) & =\lambda f(x)+(1-\lambda) f(y)-f(\lambda x+(1-\lambda) y) t \\
& =-(-(1-\lambda) f(y)+f(\lambda x+(1-\lambda) y)-\lambda f(x)) \\
& =-\lambda\left(\frac{-(1-\lambda)}{\lambda} f(y)+\frac{1}{\lambda} f(\lambda x+(1-\lambda) y)-f(x)\right) \leqslant 0 .
\end{aligned}
$$

Therefore, the inequality of the statement is true.

Proposition 1. Let $f: \mathscr{X} \rightarrow \mathbb{R}$ be a convex function. If $\lambda \in[0,1]$, then the following inequality holds:

$$
\begin{equation*}
2 \min \{\lambda, 1-\lambda\} \Delta_{1 / 2}(f)(x, y) \leqslant \Delta_{\lambda}(f)(x, y) \leqslant 2 \max \{\lambda, 1-\lambda\} \Delta_{1 / 2}(f)(x, y) \tag{13}
\end{equation*}
$$

for all $x, y \in \mathscr{X}$.

Proof. For $\lambda \in\left[0, \frac{1}{2}\right]$, we have $2 \lambda \in[0,1]$ and $2 \lambda-1 \in[-1,0]$, so, we show that $\Delta_{2 \lambda}(f)\left(\frac{1}{2}(x+y), y\right) \geqslant 0$ and using Lemma 2 we have inequality $\Delta_{2 \lambda-1}(f)\left(x, \frac{1}{2}(x+y)\right)$ $\leqslant 0$. From equalities (10) and (11), we obtain

$$
\begin{equation*}
2 \lambda \Delta_{1 / 2}(f)(x, y) \leqslant \Delta_{\lambda}(f)(x, y) \leqslant 2(1-\lambda) \Delta_{1 / 2}(f)(x, y) \tag{14}
\end{equation*}
$$

For $\lambda \in\left[\frac{1}{2}, 1\right]$, in the same way, we prove that

$$
\begin{equation*}
2(1-\lambda) \Delta_{1 / 2}(f)(x, y) \leqslant \Delta_{\lambda}(f)(x, y) \leqslant 2 \lambda \Delta_{1 / 2}(f)(x, y) \tag{15}
\end{equation*}
$$

Consequently, combining inequalities (14) and (15) the inequality of the statement is true.

Remark 1. Therefore, Proposition (1) in this paper is relation (9) for $n=2$, which has been established in [8]. But, the proof is different and we keep it as alternative proof.

In inequality (13) for the convex function $f:[x, y] \rightarrow \mathbb{R}$ with $f(t)=-\log t$, we deduce the following inequality [12]:

$$
\begin{equation*}
1 \leqslant\left(\frac{x+y}{2 \sqrt{x y}}\right)^{2 \min \{\lambda, 1-\lambda\}} \leqslant \frac{\lambda x+(1-\lambda) y}{x^{\lambda} y^{1-\lambda}} \leqslant\left(\frac{x+y}{2 \sqrt{x y}}\right)^{2 \max \{\lambda, 1-\lambda\}} \tag{16}
\end{equation*}
$$

for all $x, y>0$ and $\lambda \in[0,1]$ (see also [8]). This inequality represents a refinement of Young's inequality. Inequality (16) can be presented with Kantorovich constant, thus

$$
\begin{equation*}
K^{\min \{\lambda, 1-\lambda\}}(h, 2) x^{\lambda} y^{1-\lambda} \leqslant \lambda x+(1-\lambda) y \leqslant K^{\max \{\lambda, 1-\lambda\}}(h, 2) x^{\lambda} y^{1-\lambda} \tag{17}
\end{equation*}
$$

where $x, y>0, \lambda \in[0,1], K(h, 2)=\frac{(h+1)^{2}}{4 h}$ and $h=\frac{y}{x}$. Notice that the first inequality in (17) was obtained by Zou et al. in [20] while the second was obtained by Liao et al. [11].

If $\lambda \in(0,1)$, then inequality (14) can be written, for a nondegenerate interval $I$, as

$$
\begin{equation*}
0 \leqslant \frac{\Delta_{\lambda}(f)(x, y)}{2 \max \{\lambda, 1-\lambda\}} \leqslant \frac{f(x)+f(y)}{2}-f\left(\frac{x+y}{2}\right) \leqslant \frac{\Delta_{\lambda}(f)(x, y)}{2 \min \{\lambda, 1-\lambda\}} \tag{18}
\end{equation*}
$$

for all $x, y \in I$. For a convex function $f: I \rightarrow \mathbb{R}_{+}$, with $\lambda=\frac{f(y)}{f(x)+f(y)}$, inequality (18) becomes:

$$
\begin{align*}
0 & \leqslant \min \{f(x), f(y)\}\left(1-\frac{f(x)+f(y)}{2 f(x) f(y)} f\left(\frac{y f(x)+x f(y)}{f(x)+f(y)}\right)\right) \\
& \leqslant \frac{f(x)+f(y)}{2}-f\left(\frac{x+y}{2}\right) \\
& \leqslant \max \{f(x), f(y)\}\left(1-\frac{f(x)+f(y)}{2 f(x) f(y)} f\left(\frac{y f(x)+x f(y)}{f(x)+f(y)}\right)\right) \tag{19}
\end{align*}
$$

for all $x, y \in I$ with $f(x) \neq 0$ and $f(y) \neq 0$.
Inequality (19) can be rewritten as

$$
\begin{gather*}
\frac{2 f\left(\frac{x+y}{2}\right)-|f(x)-f(y)|}{\min \{f(x), f(y)\}} \\
\leqslant \frac{f(x)+f(y)}{f(x) f(y)} f\left(\frac{y f(x)+x f(y)}{f(x)+f(y)}\right) \leqslant \frac{2 f\left(\frac{x+y}{2}\right)+|f(x)-f(y)|}{\max \{f(x), f(y)\}} \tag{20}
\end{gather*}
$$

for every $x, y \in I$ with $f(x) \neq 0$ and $f(y) \neq 0$.
In general, for $a, b>0$ and using relation (13), for $\lambda=\frac{a}{a+b}$, we find the following inequality:

$$
\begin{equation*}
\frac{2 \min \{a, b\}}{a+b} \Delta_{1 / 2}(f)(x, y) \leqslant \Delta_{\frac{a}{a+b}}(f)(x, y) \leqslant \frac{2 \max \{a, b\}}{a+b} \Delta_{1 / 2}(f)(x, y) \tag{21}
\end{equation*}
$$

for all $x, y \in \mathscr{X}$, which can be rewritten as

$$
\begin{gather*}
2 \min \{a, b\}\left(\frac{f(x)+f(y)}{2}-f\left(\frac{x+y}{2}\right)\right) \leqslant a f(x)+b f(y)-(a+b) f\left(\frac{a x+b y}{a+b}\right) \\
\leqslant 2 \max \{a, b\}\left(\frac{f(x)+f(y)}{2}-f\left(\frac{x+y}{2}\right)\right) \tag{22}
\end{gather*}
$$

for all numbers $x$ and $y$ in $\mathscr{X}$ and $a, b \in \mathbb{R}_{+}$. In addition, (22) are also proved in [8].
Let $I$ be a nondegenerate interval of $\mathbb{R}$. For $a+b=1$ and $\mathscr{X}=I$, this inequality is given by Mitroi [15], as a particular case of the Dragomir inequality [1].

Therefore, our interest is to refine inequality (22), which can be obtained from inequality (13).

THEOREM 1. Suppose that $f: \mathscr{X} \rightarrow \mathbb{R}$ is a convex function. If $\lambda \in\left[0, \frac{1}{2}\right]$, then the following inequality holds:

$$
\begin{align*}
& 2 \lambda \Delta_{1 / 2}(f)(x, y)+2 \min \{2 \lambda, 1-2 \lambda\} \Delta_{1 / 2}(f)\left(\frac{1}{2}(x+y), y\right) \leqslant \Delta_{\lambda}(f)(x, y) \\
& \quad \leqslant 2 \lambda \Delta_{1 / 2}(f)(x, y)+2 \max \{2 \lambda, 1-2 \lambda\} \Delta_{1 / 2}(f)\left(\frac{1}{2}(x+y), y\right) \tag{23}
\end{align*}
$$

and if $\lambda \in\left[\frac{1}{2}, 1\right]$, then the inequality

$$
\begin{align*}
& 2(1-\lambda) \Delta_{1 / 2}(f)(x, y)+2 \min \{2 \lambda-1,2-2 \lambda\} \Delta_{1 / 2}(f)\left(x, \frac{1}{2}(x+y)\right) \leqslant \Delta_{\lambda}(f)(x, y) \\
& \quad \leqslant 2(1-\lambda) \Delta_{1 / 2}(f)(x, y)+2 \max \{2 \lambda-1,2-2 \lambda\} \Delta_{1 / 2}(f)\left(x, \frac{1}{2}(x+y)\right) \tag{24}
\end{align*}
$$

holds.

Proof. For $\lambda \in\left[0, \frac{1}{2}\right]$, we have $2 \lambda \in[0,1]$ and replacing $x$ by $\frac{1}{2}(x+y)$ in inequality (13), we deduce

$$
\begin{gather*}
2 \min \{2 \lambda, 1-2 \lambda\} \Delta_{1 / 2}(f)\left(\frac{1}{2}(x+y), y\right) \leqslant \Delta_{2 \lambda}(f)\left(\frac{1}{2}(x+y), y\right) \\
\leqslant 2 \max \{2 \lambda, 1-2 \lambda\} \Delta_{1 / 2}(f)\left(\frac{1}{2}(x+y), y\right) \tag{25}
\end{gather*}
$$

Consequently, combining equality (10) with inequality (25), we show the first inequality of the statement. For $\lambda \in\left[\frac{1}{2}, 1\right]$, we have $2 \lambda-1 \in[0,1]$ and replacing $y$ by $\frac{1}{2}(x+y)$ in inequality (13), we deduce

$$
\begin{align*}
2 \min \{2 \lambda- & 1,2-2 \lambda\} \Delta_{1 / 2}(f)\left(x, \frac{1}{2}(x+y)\right) \leqslant \Delta_{2 \lambda-1}(f)\left(x, \frac{1}{2}(x+y)\right) \\
& \leqslant 2 \max \{2 \lambda-1,2-2 \lambda\} \Delta_{1 / 2}(f)\left(x, \frac{1}{2}(x+y)\right) \tag{26}
\end{align*}
$$

Consequently, combining equality (11) with inequality (26) we prove the second inequality of the statement.

REMARK 2. In inequality (23) for the convex function $f:(0, \infty) \rightarrow \mathbb{R}$ with $f(t)=$ $t^{p}$, where $p \in(-\infty, 0] \cup[1, \infty)$, we obtain the following inequality:

$$
\begin{gather*}
\min \{\lambda, 1-\lambda\}\left(x^{p}+y^{p}-2^{1-p}(x+y)^{p}\right) \leqslant \lambda x^{p}+(1-\lambda) y^{p}-(\lambda x+(1-\lambda) y)^{p} \\
\leqslant \max \{\lambda, 1-\lambda\}\left(x^{p}+y^{p}-2^{1-p}(x+y)^{p}\right) \tag{27}
\end{gather*}
$$

for all $x, y>0$ and $\lambda \in[0,1]$.
In inequality (23) for the convex function $f:(0, \infty) \rightarrow \mathbb{R}$ with $f(t)=-\log t$, we deduce the following inequality:

$$
\begin{gather*}
1 \leqslant\left(\frac{x+y}{2 \sqrt{x y}}\right)^{2 \lambda}\left(\frac{x+3 y}{2 \sqrt{2 y(x+y)}}\right)^{2 \min \{2 \lambda, 1-2 \lambda\}} \leqslant \frac{\lambda x+(1-\lambda) y}{x^{\lambda} y^{1-\lambda}} \\
\leqslant\left(\frac{x+y}{2 \sqrt{x y}}\right)^{2 \lambda}\left(\frac{x+3 y}{2 \sqrt{2 y(x+y)}}\right)^{2 \max \{2 \lambda, 1-2 \lambda\}} \tag{28}
\end{gather*}
$$

for all $x, y>0$ and $\lambda \in\left[0, \frac{1}{2}\right]$. This inequality represents an improvement of Young's inequality, which refines inequality (16).

We are studying the problem of comparing the upper bound from inequality (13) with the upper bounds from inequalities (23) and (24) to see which is better. For $\lambda \in$ $\left[0, \frac{1}{4}\right]$, by simple calculations, we prove the inequality
$2 \lambda \Delta_{1 / 2}(f)(x, y)+2 \max \{2 \lambda, 1-2 \lambda\} \Delta_{1 / 2}(f)\left(\frac{1}{2}(x+y), y\right) \leqslant 2(1-\lambda) \Delta_{1 / 2}(f)(x, y)$.

Therefore, for $\lambda \in\left[0, \frac{1}{4}\right]$ the upper bound from inequality (23) is better. But, for $\lambda \in$ $\left[\frac{1}{4}, \frac{1}{2}\right]$ inequality (24) becomes

$$
2(1-\lambda) f\left(\frac{x+y}{2}\right)+(4 \lambda-1) f(y) \leqslant(1-2 \lambda) f(x)+4 \lambda f\left(\frac{x+3 y}{4}\right)
$$

which is true for $x=-y$ and false for $x=-3 y$, when $0 \in \mathscr{X}$ and $f(0)=0$. For $\lambda \in\left[\frac{3}{4}, 1\right]$, by simple calculations, we prove the inequality

$$
\begin{equation*}
2(1-\lambda) \Delta_{1 / 2}(x, y)+2 \max \{2 \lambda-1,2-2 \lambda\} \Delta_{1 / 2}\left(x, \frac{1}{2}(x+y)\right) \leqslant 2 \lambda \Delta_{1 / 2}(x, y) \tag{30}
\end{equation*}
$$

Consequently, for $\lambda \in\left[\frac{3}{4}, 1\right]$ the upper bound from inequality (24) is better. But, for $\lambda \in\left[\frac{1}{2}, \frac{3}{4}\right]$ inequality (30) becomes

$$
2 \lambda f\left(\frac{x+y}{2}\right)+(3-4 \lambda) f(x) \leqslant(2 \lambda-1) f(y)+4(1-\lambda) f\left(\frac{3 x+y}{4}\right)
$$

which is true for $y=-x$ and false for $y=-3 x$, when $0 \in \mathscr{X}$ and $f(0)=0$.
We choose two real numbers $a$ and $b$ such that $0<a \leqslant b$, if we use relation (23), for $\lambda=\frac{a}{a+b} \leqslant \frac{1}{2}$, then we obtain the following inequality:

$$
\begin{gather*}
2 \frac{a}{a+b} \Delta_{1 / 2}(f)(x, y)+\frac{2 \min \{2 a, b-a\}}{a+b} \Delta_{1 / 2}(f)\left(\frac{1}{2}(x+y), y\right) \leqslant \Delta_{\frac{a}{a+b}}(f)(x, y) \\
\quad \leqslant 2 \frac{a}{a+b} \Delta_{1 / 2}(f)(x, y)+\frac{2 \max \{2 a, b-a\}}{a+b} \Delta_{1 / 2}(f)\left(\frac{1}{2}(x+y), y\right) \tag{31}
\end{gather*}
$$

for all $x, y \in \mathscr{X}$, which can be rewritten as

$$
\begin{gather*}
a\left(f(x)+f(y)-2 f\left(\frac{x+y}{2}\right)\right)+\min \{2 a, b-a\}\left(f\left(\frac{x+y}{2}\right)+f(y)-2 f\left(\frac{x+3 y}{4}\right)\right) \\
\leqslant a f(x)+b f(y)-(a+b) f\left(\frac{a x+b y}{a+b}\right) \\
\leqslant a\left(f(x)+f(y)-2 f\left(\frac{x+y}{2}\right)\right) \\
+\max \{2 a, b-a\}\left(f\left(\frac{x+y}{2}\right)+f(y)-2 f\left(\frac{x+3 y}{4}\right)\right) \tag{32}
\end{gather*}
$$

for every $x$ and $y$ in $\mathscr{X}$ and $a, b \in \mathbb{R}_{+}, a \leqslant b$. This inequality refined the first part of inequality (22).

A generalization of the equalities from Lemma 1 is given below:

THEOREM 2. Let $f: \mathscr{X} \rightarrow \mathbb{R}$ be a function and the natural number $n \geqslant 1$. If $\lambda \in \mathbb{R}$, then the following equalities hold:

$$
\begin{align*}
\Delta_{\lambda}(f)(x, y)= & \lambda \sum_{k=1}^{n} 2^{k} \Delta_{1 / 2}(f)\left(\frac{1}{2^{k-1}} x+\left(1-\frac{1}{2^{k-1}}\right) y, y\right) \\
& +\Delta_{2^{n} \lambda}(f)\left(\frac{1}{2^{n}} x+\left(1-\frac{1}{2^{n}}\right) y, y\right) \tag{33}
\end{align*}
$$

and

$$
\begin{align*}
\Delta_{\lambda}(f)(x, y)= & (1-\lambda) \sum_{k=1}^{n} 2^{k} \Delta_{1 / 2}(f)\left(x,\left(1-\frac{1}{2^{k-1}}\right) x+\frac{1}{2^{k-1}} y\right) \\
& +\Delta_{2^{n}} \lambda+1-2^{n}(f)\left(x,\left(1-\frac{1}{2^{n}}\right) x+\frac{1}{2^{n}} y\right) \tag{34}
\end{align*}
$$

for all $x, y \in \mathscr{X}$.

Proof. Using Lemma 1 for $\lambda \in \mathbb{R}$, we have

$$
\Delta_{\lambda}(f)(x, y)=\Delta_{2 \lambda}(f)\left(\frac{1}{2}(x+y), y\right)+2 \lambda \Delta_{1 / 2}(f)(x, y)
$$

We replace $\lambda$ by $2 \lambda$ and $x$ by $\frac{1}{2}(x+y)$, in the above equality and we get

$$
\begin{aligned}
\Delta_{2 \lambda}(f)\left(\frac{1}{2}(x+y), y\right)= & \Delta_{2^{2} \lambda}(f)\left(\frac{1}{2}\left(\frac{1}{2}(x+y)+y\right), y\right) \\
& +2^{2} \lambda \Delta_{1 / 2}(f)\left(\frac{1}{2}(x+y), y\right) .
\end{aligned}
$$

If we inductively repeat the above substitutions, for $k \geqslant 1$, then we have

$$
\begin{gathered}
\Delta_{2^{k-1} \lambda}(f)\left(\frac{1}{2^{k-1}} x+\left(1-\frac{1}{2^{k-1}}\right) y, y\right)=\Delta_{2^{k} \lambda}(f)\left(\frac{1}{2^{k}} x+\left(1-\frac{1}{2^{k}}\right) y, y\right) \\
+2^{k} \lambda \Delta_{1 / 2}(f)\left(\frac{1}{2^{k-1}} x+\left(1-\frac{1}{2^{k-1}}\right) y, y\right) .
\end{gathered}
$$

Therefore, summarizing the above relations for $k \in\{1, \ldots, n\}$, we obtain the relation of the statement. Applying equality (33) and taking into account that $\Delta_{\lambda}(f)(x, y)=$ $\Delta_{1-\lambda}(f)(y, x)$, we deduce equality (34).

These equalities offer the possibility to refine inequalities (23) and (24), thus

THEOREM 3. Let $f: \mathscr{X} \rightarrow \mathbb{R}$ be a convex function and $n$ a natural number, $n \geqslant 1$. If $\lambda \in\left[0, \frac{1}{2^{n}}\right]$, then the following inequality holds:

$$
\begin{gather*}
\lambda \sum_{k=1}^{n} 2^{k} \Delta_{1 / 2}(f)\left(\frac{1}{2^{k-1}} x+\left(1-\frac{1}{2^{k-1}}\right) y, y\right) \\
+2 \min \left\{2^{n} \lambda, 1-2^{n} \lambda\right\} \Delta_{1 / 2}(f)\left(\frac{1}{2^{n}} x+\left(1-\frac{1}{2^{n}}\right) y, y\right) \leqslant \Delta_{\lambda}(f)(x, y) \\
\leqslant \lambda \sum_{k=1}^{n} 2^{k} \Delta_{1 / 2}(f)\left(\frac{1}{2^{k-1}} x+\left(1-\frac{1}{2^{k-1}}\right) y, y\right) \\
+2 \max \left\{2^{n} \lambda, 1-2^{n} \lambda\right\} \Delta_{1 / 2}(f)\left(\frac{1}{2^{n}} x+\left(1-\frac{1}{2^{n}}\right) y, y\right) \tag{35}
\end{gather*}
$$

and if $\lambda \in\left[1-\frac{1}{2^{n}}, 1\right]$, then the following inequality holds:

$$
\begin{align*}
& (1-\lambda) \sum_{k=1}^{n} 2^{k} \Delta_{1 / 2}(f)\left(x,\left(1-\frac{1}{2^{k-1}}\right) x+\frac{1}{2^{k-1}} y\right) \\
& +2 \min \left\{\lambda^{\prime}, 1-\lambda^{\prime}\right\} \Delta_{1 / 2}(f)\left(x,\left(1-\frac{1}{2^{n}}\right) x+\frac{1}{2^{n}} y\right) \leqslant \Delta_{\lambda}(f)(x, y) \\
& \leqslant(1-\lambda) \sum_{k=1}^{n} 2^{k} \Delta_{1 / 2}(f)\left(x,\left(1-\frac{1}{2^{k-1}}\right) x+\frac{1}{2^{k-1}} y\right) \\
& +2 \max \left\{\lambda^{\prime}, 1-\lambda^{\prime}\right\} \Delta_{1 / 2}(f)\left(x,\left(1-\frac{1}{2^{n}}\right) x+\frac{1}{2^{n}} y\right) \tag{36}
\end{align*}
$$

where $\lambda^{\prime}=2^{n} \lambda+1-2^{n}$ and $x, y \in \mathscr{X}$.
Proof. Using the inequalities from Proposition 1 and combining with equalities (33) and (34), we deduce that the inequalities of the statement are true.

For a real normed space $\mathscr{X}=(\mathscr{X},\|\cdot\|)$, function $f(x)=\|x\|^{r} \quad(x \in \mathscr{X}$ and $1 \leqslant r<\infty)$ is a convex function. Therefore, we obtain

$$
\Delta_{\lambda}(f)(x, y)=\lambda\|x\|^{r}+(1-\lambda)\|y\|^{r}-\|\lambda x+(1-\lambda)\|^{r}
$$

where $x, y \in \mathscr{X}, r \geqslant 1$ and $0 \leqslant \lambda \leqslant 1$.
For $r=1$ in the above equality, we find $\Delta_{\lambda}(f)(x, y)=\lambda\|x\|+(1-\lambda)\|y\|-\| \lambda x+$ $(1-\lambda) y \|$, where $x, y \in \mathscr{X}$ and $0 \leqslant \lambda \leqslant 1$, which in fact is the expression of $d_{\lambda}(x, y)$ from [18].

In inequality (23) for the convex function $f(x)=\|x\|^{r}$, where $r \in[1, \infty)$, we obtain the following inequality:

$$
\begin{gather*}
\min \{\lambda, 1-\lambda\}\left(\|x\|^{r}+\|y\|^{r}-2^{1-r}\|x+y\|^{r}\right) \leqslant \lambda\|x\|^{r}+(1-\lambda)\|y\|^{r}-\|\lambda x+(1-\lambda) y\|^{r} \\
\leqslant \max \{\lambda, 1-\lambda\}\left(\|x\|^{r}+\|y\|^{r}-2^{1-r}\|x+y\|^{r}\right) \tag{37}
\end{gather*}
$$

for all $x, y \in \mathscr{X}$ and $\lambda \in[0,1]$. If we replace $y$ by $-y$ in inequality (2) we find inequality

$$
\begin{gather*}
\min \{\lambda, 1-\lambda\}\left(\|x\|^{r}+\|y\|^{r}-2^{1-r}\|x-y\|^{r}\right) \leqslant \lambda\|x\|^{r}+(1-\lambda)\|y\|^{r}-\|\lambda x-(1-\lambda) y\|^{r} \\
\leqslant \max \{\lambda, 1-\lambda\}\left(\|x\|^{r}+\|y\|^{r}-2^{1-r}\|x-y\|^{r}\right) \tag{38}
\end{gather*}
$$

for all $x, y \in \mathscr{X}$ and $\lambda \in[0,1]$.
Let $p$ be a real number such that $p>0$ and we take $\lambda=\frac{\|x\|^{p-1}}{\|x\|^{p-1}+\|y\|^{p-1}}$ in inequality (38), then we have the following inequality:

$$
\begin{gather*}
\min ^{p-1}\{\|x\|,\|y\|\}\left(\|x\|^{r}+\|y\|^{r}-2^{1-r}\|x-y\|^{r}\right) \\
\leqslant\|x\|^{p+r-1}+\|y\|^{p+r-1}-\left(\|x\|^{p-1}+\|y\|^{p-1}\right)^{1-r}\| \| x\left\|^{p-1} x-\right\| y\left\|^{p-1} y\right\|^{r} \\
\leqslant \max ^{p-1}\{\|x\|,\|y\|\}\left(\|x\|^{r}+\|y\|^{r}-2^{1-r}\|x-y\|^{r}\right) \tag{39}
\end{gather*}
$$

for all nonzero vectors $x, y \in \mathscr{X}, r \geqslant 1$ and $p>0$.
By replacing parameter $\lambda$ with various values or choosing various particular cases of the convex function $f$, we obtain other applications for $\Delta_{\lambda}(f)(x, y)$, where $x, y \in \mathscr{X}$. It remains for the reader to find other estimates of the expression $\Delta_{\lambda}(f)(x, y)$, where $x, y \in \mathscr{X}$ and $\lambda \in \mathbb{R}$.

Acknowledgements. The author want to thank the anonymous reviewers and editor for their careful reading of the manuscript and for many valuable remarks and suggestions.

## REFERENCES

[1] S. S. Dragomir, Bounds for the Normalized Jensen Functional, Bull. Austral. Math. Soc. 74, 3 (2006), 471-478.
[2] S. S. Dragomir, J. E. Pečarić and L. E. Persson, Bounds for the Normalized Jensen Functional, Acta Math. Hungar. 70, 1-2 (1996), 129-143.
[3] A. El Farissi, Z. Latreuch and B. Balaidi, Hadamard Type Inequalities For Near Convex Functions, Gazeta Matematică Seria A 28, 107 (2010), 9-14.
[4] S. Furuichi, On refined Young inequalities and reverse inequalities, J. Math. Ineq. 5, 1 (2011), 2131.
[5] S. Furuichi and H. R. Moradi, Advances in mathematical inequalities, De Gruyter, Berlin, Boston, 2020.
[6] G. H. Hardy, J. E. Litlewood and G. Pólya, Inequalities, Cambridge Mathematical Library, 1988.
[7] F. Kittaneh and Y. Manasrah, Improved Young and Heinz inequalities for matrices, J. Math. Anal. Appl. 361, 1 (2010), 262-269.
[8] M. Krnić, N. Lovričević and J. Pečarić, Jessen's functional, its properties and applications, An. Şt. Univ. Ovidius Constanţa 20, 1 (2012), 225-248.
[9] M. Krnić, N. Lovričević and J. Pečarić, On the properties of McShane's functional and their applications, Period. Math. Hung. 66, 2 (2013), 159-180.
[10] M. Krnić, N. Lovričević, J. Pečarić and J. Perić, Superadditivity and monotonicity of the Jensen-type functionals, Element, Zagreb, 2015.
[11] W. Liao, J. Wu and J. Zhao, New version of reverse Young and Heinz mean inequalities with the Kantorovich constant, Taiwanese. J. Math. 19, 2 (2015), 467-479.
[12] N. Minculete, A result about Young's inequality and several applications, Sci. Magna 7, 1 (2011), 61-68.
[13] N. Minculete and F.-C. Mitroi, Fejér type inequalities, Aust. J. Math. Anal. Appl. 9, 1 (2012), 1-8.
[14] D. S. Mitrinović, J. Pečarić and A. M. Fink, Classical and New Inequalities in Analysis, Kluwer Academic Publishers, Dordrecht/Boston/London, 1993.
[15] F.-C. Mitroi, About the precision in Jensen-Steffensen inequality, Annals of the University of Craiova, Mathematics and Computer Science Series 37, 3 (2010), 73-84.
[16] C. P. Niculescu and L.-E. Persson, Convex Functions and Their Applications. A Contemporary Approach, Springer-Verlag, New York, 2006.
[17] J. Pečarić, F. Proschan and Y. L. Tong, Convex Functions, Partial Orderings and Statistical Applications, Mathematics in Science and Engineering, 1992.
[18] A. Raţiu and N. Minculete, On Several Bounds for Types of Angular Distances, Mathematics 10, 18 (2022), 1-10.
[19] M. Sababheh and M. S. Moslehian, Advanced refinements of Young and Heinz inequalities, J. Number Theory 172, 1 (2017), 178-199.
[20] G. Zuo, G. Shi and M. Fujir, Refined Young inequality with Kantorovich constant, J. Math. Inequal. 5, 4 (2011), 551-556.

Nicuşor Minculete<br>Transilvania University of Braşov<br>Braşov, 500091, Romania<br>e-mail: minculete.nicusor@unitbv.ro

